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e EpE iy e
6x— ly+3z=22 P Sy —Gy—lz=-27
x+2p+1z=22 Ix+ 1y+3z=27

4x— 3y — 6z =21 Sx+6y—62z=15
ox— ly—4z=—-7 - 3x+4y—2z=29
3x—2y+4z=16 Ix+4y—1z2=23
Ix—3y+5z=13 6x+ 6y + 1z =86

5. 6.
dx—6y—1z=-3 6x—4y+2z=1350
Ix—6y—1z=-12 Sx+5y—1z=45
6x— 3y +3z =21 6x— 6y — 2z = 26
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5.

6x— ly+3z=22
x+2p+1z=22
4x— 3y — 6z =21

N
I
W W

6x— ly—4z=-7

3x—2y+4z=16
Ix—3y+5z=13
x=2
y=3
z=4
dx—6y—1z=-3
Ix—6y—1z=-12
6x—3y+3z=21
x=73
y=2
z=13

(\S)

H #A:

Sx—6y—lz=-27
Ix+ 1y +3z=27
Sx+6y—62z=15

3
6
6

N R
I

3x+4y—2z=29
Ix+4y—1z2=23
6x+ 6y + 1z = 86

S
I
0 AN

6x— 4y +2z=150
Sx+5y—1z=45
6x— 6y —2z=126
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